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I. Multiple Choice Question 14x1=14

1) Ifn(AxB) =6 and A = {1,3} then n(B) is

@1 (M 2 (g3 (6

2) If the ordered pairs (a + 2, 4) and (5, 2a + b) are equal then (a, b) is
@ (2,-2) () (5,1) (9 (2,3 (d) (3,-2)
3) If f A — B is a bijective function and if n(B) = 7, then n(A) is equal to
@ 7 ([ 49 ()1 (d) 14
Y A=fa,b,p,B=123,C=1{p,qr s then n[(A U C) x B] is
@ 8 (b) 20 (c) 12 (d) 16
5) If the HCF of 65 and 117 is expressible in the form of 65m - 117 , then the value of m is
@ 4 ()2 (1 (d3
6) Given F; = 1, F, = 3 and F,, = F,.; + F,.» then F5 is
@ 3 (b5 (¢ 8 (d 11
7) An A.P. consists of 31 terms. If its 16 term is m, then the sum of all the terms of this A.P. is
(@ 16m (b)) 62m (o) 31m (d) 3'm
8) If (x - 6) is the HCF of x? - 2x - 24 and x? - kx - 6 then the value of k is
@ 3 (b5 ()6 (ds8
9) 25628y4210
The square root of oatyiat is equal to
2
@ L= 0) 16|25 © FlE| @ F|=
10) Which of the following should be added to make x* + 64 a perfect square
(a) 4x2 (b) 16x% (c) 8x2 (d) -8x2
11) The number of points of intersection of the quadratic polynomial x> + 4x + 4 with the X axis is
@ 0 (M 1 (c) Oor1l (d 2
12) Graph of a linear equation is a
(@) straight line (b) circle (c) parabola (d) hyperbola
13) AB

BC
If in triangles ABC and EDF,—— = —— then they will be similar, when
DE FD

@ /B=/E () /A=/D () /B=/D () /A=/F
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14) The area of triangle formed by the points (-5, 0), (0, —-5) and (5, 0) is
(@) 0sq.units (b) 25 sq. units (c) 5 sq. units (d) none of these
15) The slope of the line which is perpendicular to a line joining the points (0, O) and (- 8, 8) is
@ -1 (b1 (o3 (d-8
II. Answer any 10 question. 10x2 =20
16) If Ax B ={3,2), (3, 4), (5,2), (5, 4)} then find A and B.
17) IfBxA={-2,3), (-2,4),(0,3), (0,4),(3,3),(3,4)} find A and B.
18) if m, n are natural numbers , for what values of m, does 2" x 5™ ends in 5?
19) " 1f 13824 = 22 x 3" then find a and b.
20) Let A={1, 2, 3, 4,..., 45} and R be the relation defined as "is square of a number” on A. Write R as a subset of A x A. Also, find the
domain and range of R.
21) For what values of natural number n, 4™ can end with the digit 6?
22) Check whether the following sequences are in A.P.
a-3,a-5,a-17,....
23) Find x, y and z, given that the numbers x, 10, y, 24, z are in A.P.
24) Find the sum and product of the roots for each of the following quadratic equations:
x> +8x-65=0
25) Solve 2x? - 3x - 3 = 0 by formula method.
26) Find the excluded values of the following expressions (if any).
Tp+2
8p?+13p+5
27) Find the area of the triangle formed by the points (1, —-1), (-4, 6) and (-3, -5)
28) Simplify
z+2 . z’-z—6
4y 12y2
29) Find the number of terms in the following G.P.
4, 8,16,...,8192
30)  prove that tan26-sin? 6 = tan2  sin2 0
31)

A cylindrical drum has a height of 20 cm and base radius of 14 cm. Find its curved surface area and the total surface area.

III. Answer any 10 question.

32) Let A=1{1,2,3,4,and B=1{2, 5, 8, 11,14} be two sets. Let f: A — B be a function given by f(x) = 3x — 1. Represent this function
(i) by arrow diagram
(ii) in a table form
(iii) as a set of ordered pairs
(iv) in a graphical form
33)  LetA=fxEN|1<x<4,B={x€cW|O0sx<2) andC = {x € N| x < 3} Then verify that
(AxBUC)=(AxB)U(AxC)
{[AxBNC)=(AxB)N((AxC)
34) If the function f: R— R defined by
2z + 7,2 < =2
flx) =2 22 -2,-2<2<3
3x—2,z >3
(i) £( 4)
(if) f( -2)
(iii) f(4) + 2f(1)
(iv) f(1;(_3313(4)
35)

Find the HCF of 396, 504, 636.
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36) Find the sum to n terms of the series
3 +33 + 333 + ...ton terms
37) The sum of three consecutive terms that are in A.P. is 27 and their product is 288. Find the three terms.
38) Find the sum of
93+ 103 +.......+ 213
39) Find the square root of the following expressions
16x° + 9y? - 24xy + 24x - 18y + 9
40) Show that the points P(-1, 5, 3), Q(6, -2) , R(-3, 4) are collinear.
41) 3.1 )
IfA= 5 show that A“ - 5A + 7I, =0
42) From a solid cylinder whose height is 2.4 cm and diameter 1.4 cm, a conical cavity of the same height and base is hollowed out. Find
the total surface area of the remaining solid.
J 1
—1l4em—
43) The product of Kumaran’s age (in years) two years ago and his age four years from now is one more than twice his present age. What
is his present age?
44) 1 1 -1 2 1 2
Given that A = 3 ,B= ,C= 3 verify that A(B + C) = AB + AC.
5 —1 3 5 2 -4 1 3
* 5 2 9 ! ’
If A= { ],B: 1 2| verify that (AB)T=BTAT
1 2 8
—1
IV. Answer all question. 2x8=16
46) Draw the graph of y = x> + 4x + 3 and hence find the roots of x> + x + 1 = 0
47) Varshika drew 6 circles with different sizes. Draw a graph for the relationship between the diameter and circumference of each circle
as shown in the table and use it to find the circumference of a circle when its diameter is 6 cm.
Diameter (x)cm 1 | 2] 3 4 5
Circumference (y)em | 3.1 [ 6.2 [ 9.3 |12.4 | 15.5
48) Construct a APQR in which QR = 5 cm, /P = 40° and the median PG from P to QR is 4.4 cm. Find the length of the altitude from P
to QR.
49)

Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its centre. Draw the two tangents PA and PB to the circle

and measure their lengths.

All the best
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